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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 9,825 2 4,389 3 3,806 4 6,063 )
X 9 X 5 X 8 X 5 '
2.
3.
4.
5 6,047 6) 4,021 ) 7,259 8 4,902 )
X 3 X 7 X 6 X 2 '
6.
7.
8.
9 4,850 100 1,159 1) 5,623 12) 7,481 .
X 4 X 2 X 9 X 2 .
10.
11.
12.
13 9,095 14) 29201 15 3,442 16) 3,055 a
X 4 X 3 X 3 X 9
14.
15.
16.
1) 6,965 18 6,430 19 2,511 20 4,117 .
X 8 X ®] X 2 X 7
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name:. Answer Key
Solve each problem. Answers
1 2 3 4
) 9,825 ) 4,389 ) 3,806 ) 6,063 . 88425
X 9 X 5 X 8 X 5
88,425 21,945 30,448 30,315 , 21,945
s 30,448
.+ 30,315
5 6 7 8
) 6,047 ) 4,021 ) 7,259 ) 4,902 . 18141
X 3 X 7 X 6 X 2
18,141 28,147 43,554 9,804 6. 28,147
;. 43,554
8. 9,804
9 4,850 19 1,159 ) 5,623 12 7,481 . 19,400
X 4 X 2 X 9 X 2
19,400 2,318 50,607 14,962 0. 2,318
1. 50,607
1 14,962
13) 9,095 14 2,291 15 3,442 16) 3,055 s 36,380
X 4 X 3 X 3 X 9 .
36,380 6,873 10,326 27,495 4. 6,873
5. 10,326
6. 27,495
17y 6,965 18) 6,430 199 2511 20) 4,117 = 55720
X 8 X 9 X 2 X 7
55,720 57,870 5,022 28,819 18, 57,870
9. 5,022
0, 28,819
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C:E Multiplication (Vertical)

Name:
Solve each problem. Answers
43,554 88,425 30,448 21,945
19,400 18,141 14,962 28,147 1.
2,318 9,804 30,315 50,607
2.
) 9,825 2) 4,389 3 3,806 4 6,063
X 9 X 5 X 8 X 5 3,
4.
5.
6.
7.
8.
S 6,047 6) 4,021 ) 7.259 8 4,902
X 3 X 7 X 6 % 2 0.
10.
11.
12.
9 4,850 100 1,159 11) 5,623 12)  7.481
X 4 X 2 X 9 X 2
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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